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SECTION _A

Answer allqueslons Each queslio. carres % mark.

l. [4anagernenl ,ccounl ng lacrl ale managers for

2 Current asset Clrenl liabilities =

represenls excess ol sales over break even

ic rhe.lifterence beiween the slandatd cosl
actualoutput and lhe aciualcosl ol maler aL consumed.
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3.

ot materials for lhe
lhta=2|

SECTION- B

Answer any 4 quesllons. Each qleslion carrles 1 mark

5. Defin€ worklng caPital.

6 Wh.l is curent raUo ?

7 What is margina cosling ?

8. Whatdo you mean by Break Even Point

9. Whal do you mean by budqeiary control

?
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10. What ls sales bLrdget ?

11. Whai is siandard costing ?

12 What s conlribution ?

ifl t r[]I[l rfi

sEcTtoN c

Answer any 6 questions Each question carries 3 marks.

13. Whai are the I!nctions oi managemeni accounting ?

l4 E,oltr4 rh" di"" "-t t\Doc o. , d-cd a-a yois

15. Exp a n the milaiions ot I nanciataccouniing.

16. Whal are the managerial uses ot marginatcosling ?

17 Breiy describe the objectives ot budgetary conlrot.

18. Describe the mitaiions ot slandard cosring

19. Product L4 requ res 100 kgs or mareriats at the raie of t 40 per kg. The acluat
consurnption of maleiallorthe rnanutacluring ot lhat producl came to 120 kgs
oi materlas at the rare ot a 45 per kg.

I [/l F rat Corl Vdnan.e

ii) Malerial Pdce Variance

iii) L4aieral Usage Varance.

20 The lo ov/ing pariiculars are given :

Saies i 10,00.000

Variable Cost { 6,0o,OOO

Flxed Cost 12,00 000.

Calculaie P,ry ralio.
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21. Calculale Stock l!rnover ratio:

Opening slock 140,000

Pumhases I 1,20 000

Carriage on Purchases I 10,000

Sales {2,00 000

Closing Slock 130,000.

22. Whal are lhe limiiailons ol ratio analysis ?

23. Differenlale between rnanagement accounting and financjat accounling,

24. Expiain the steps involved in slandard costing. (3xO=tO)

SECTION D

Answer any 2 qLreslions. Each question carries 8 marks.

25. Whai is management accounting ? Describe the scope ot managemenl

26. What do you mean by financial anatysis ? What arc the maior toots ot tinancja

27. From lhe lo lowing Prolil and Loss Accoufl, compute the cash Jrom operation :

Sala es

Nei proiit

10,000 Gross Profit

3,000 Prolil on sale ol land

5.000 lncome lax refund

1,000

2,000

8,000

10,000

10,000

17,000

66,000

{
50,000

9,000

7,000

66,000



K21U0172 llllllll ftfl l lffil[
28 ln a factory 100 workerc are engag€d and average rate oi wages is l5 per lrolr.

Slandard worktng hours per week are 40 and the standa;d oerfomance s
r0u-rroer hour DJrnqreweeh.r.pDtudt, sdgespad o.50wor-pr5d.rFo.,le
ol' 5 oer ho j, 0 4orta.s at { / oer.oJr a-o aO woj"er . al ) z pe. Lour A.rLrat
oulpul was 380 unirs. The Jactory did nor work for 5 hours due to breakdown

Calculate rabor variances

29 T-o1J-^ lo o4rrg pdi ! - a,o. ca.utato ,i Conr b,.,o-.11,9,. IpVpdto/,r, BtP unir( a d rn Lpee. I vr Whar wr oe t-e setrrr g ori " p-1 unp ,. ,..
BEP is broughi down to 25 000 untis ? (v) How many un rs are io be sotd ro
earn a nei income ol20% on sates ?

Fixed Expenses I I,50,000i Variabte cost per unit < iOiSe ting price per

30 [4/s Bakesh did Company suppiies you
ending 31'r Decernber 2O2O l

C.edit sa€s a 1,50,000 Cash saes I
Opening stock T 25,000 Ctosing slock a

) nveniory turnover ralio when gross

i:) lnventory Conversion period

lhe iollow ng iniornation lor

2,50 000; Relums inward I
35.000. Find o!t:

unit 115

25 000i

(8x2=16)


